AtL

(R B OSRAORITRS 0 P2

1 A L B F NFLEE 076 &
2 A L F ik Fa4 B4 AHL
3 T = 4 PRS0 FE KR EE N TEER (F04) TF
4 /T R S KARTE T KARTERT T HIBE &5 1 1 -5
5 T2 Fl Bl K OV 2 Mk T
6 A KL ¥ 1T B ORE 3142 A TH ZERiT1085455%
7 A L =& % KA PE TP MRS E
8 ¥ TE il & 94, 400, 000 M (B
9 A AL A A B A 2 YE T 76,317,000 H (Bik)
10 T %= X E # ERKPETS  KPERR
A ¥l 4 # B
% = o (M., Bitk) e
%1 (1 % 2 [A] % 3 [\

(FK) H5 e 95, 900, 000
(BR) 7 94, 900, 000
(k) 48 94, 000, 000 AL
(BR) BFN =K 95, 700, 000

fi =

(B0 =8
B D4 TR K T TE ) ]
KARPETTREMT - B27-1
2% 4HE A OH FHABEE (BLA) T
AR 314E2 )
e % Eks314E2 8 14 B 101, 520, 000 9 PRSI IS T 5
FRk314E3 A 31 H ENE
fi =




